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Generalised conclusion on the basis of a sample 1s technically known as :

TF A94 & AT 97 AOFT W TG B H AT Sl £

Options :
Statistical inference

O3 ery
L MAAHE R

Descriptive statistic
JUATOE ATRST

2. %

Data analysis and interpretation

3 % BET [O9eEor 27T ST

All of the three

, w A E T
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Question Label : Multiple Choice Question

The pmmm] of asking pre- meditated questions in instruments of data LD[]E(‘HD[I is:
HOF TAAE F ITEION T TI-TUEEET 959 TEA H U 2

Options :

Structured

= RUEF

1.¢

Unstructured
5 % A

Free-rein

-3

3. %

Systematic

g, % AT
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Question Label : Multiple Choice Question

Survey research is cross-sectional and therefore :
AN FHEE T-AIRA § AT

Options :

H1gh in replicability but low in internal valdity

| gferprd O 3=d aifhd A Juar O &g

H1gh in mterml validity but low in reliability
HAMGF TOA O F=F AR [AeaE=EaT © g

H1gh mem]ﬂmd] validity but lcm in external validity
i Jaar T 3= @fEA 9= Jgar O &g




MNone of the three

Lo A H T A
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Question Label : Multiple Choice Question

Testing hypothesisis a......... .
Ti{hed=T T & |

Options :

Inferential statistics
ATHANE AT

1. ¢

Descriptive statistics
w TUHATEE HJIRAH]

2.

Data preparation
3 % HOFH FH A=A

Data analysis
j w THE T e
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Question Label : Multiple Choice Question
Inductive logic proceeds from :
ANMOATG S 7% FATAL =061 2 ¢
Options :

General to General

O O

1. %

Particular to General
5 [@Eg F A



General to Particular
5 s AT H s

Particular to Particular
4 % TEET H T
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Question Label : Multiple Choice Question

The sampling technique based on referral system of respondents i1s known as :

TEIRTETAT B T T U7 ST Oia=ET SR R =3 SAET 2
Options :

Convenience Sampling
EIERIIGERE

1. %

Snowball Sampling

AT Ofa=4
2. %

Cluster Sampling
5 % TUE AR

Stratified Sampling
PR S MER IR

4.

Question Number : 7 Question Id : 50939817429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Analysing the impact of demonetization on economic growth falls under which category

of research 7

HAMGH OhE T Aesel F O9G B Deuer hE sie #H ST 29

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all



candidates.

Options :

Descriptive Research
AU F ST

Fundamental Research
o TIe ST

Pure Research

el

Casual Research

4 FEUCOH T
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Likert scaling 1s based on :
foThe UOET AT £ o

Options :

ltem-wise scale
| Te-FH o= Ov

Summative scale
AEOF TOH T7

Retlective scale
TESE JO= U7

Formative scale

4 % OT9F OO 07
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A research design appropriate for a particular research problem, usually involves the
consideration of the following factors : )
UF 9T TOoEr ORG99 sy #JuEr & o 3uge Eer g, fEEd

=

ATOTT4T =Fangs ®ER 99 &= 5y AET 2o

(a) The means of obtaining information
AT AT B B/ AT

(b) The availability and skills of the researcher
SRl i ITareddl AL HIgT

(c) The nature of the problem to be studied
HLIH Bl A Al TOEAT B Ol

(d) The availability of time and money tfor the research work
=1 e A 2 e R T Ll e e EA = A U

Options :

(a), (byand (d)

| % (a), (b) =77 (d)

{a), (b) and (c)
(@), (b) AT (¢)
2. %

ia), (b, (c) atld (d)

3 (a), (b, (c) AT (d)

(b, (c)and (d)

L% (b), (¢) FATT (d)
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SHODHGANGOTRI 15 :
SHODHGANGOTRI %

Options :



Database of articles

or J:j. _-El- .-' o "-j 1.:

Database of thesis & dissertation
g AT AT oy U=y W EEEd

Database of research swmpms
R AT Hw EEE

3.¢¥

Database of experts

423%:%:@%??_1%?
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Question Label : Multiple Choice Question

Which of the following statements about random sampling method is nef true 7
Aei=h =R TR b A U Mg O F FE AT J8 = ¢

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

In this metlmdi each unit has equal l.,h’mc‘e to be selected.

1 =6 TEId O Uddh 30E & =Fdd BH @ 99 FTHT Sl %I

Each sample has equal chance of selection.
ool Oicesl & =99 H TR JUE S B

It is free from personal prejudices and bias
e FTHE GAEenAT AT 9HaE J Ted =60 2 |

3.

This method is very simple to use
TE T TAN FHIA O FEE AT 2
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Question Label : Multiple Choice Question

The English word 'Research’ derives its origin from :
AT ot TEE (slrE) A FE E

Options :

Latin

French

German
3 % A0+

Italian

= =)
FE ) R,

4o
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Question Label : Multiple Choice Question

Which of the following approach uses the study of groups to identify general laws that
apply to a large group of people ?

=9 A FI-TT SIEFEVT WA F @9 AT U7 @R B al Jmorer I #l
TEAE B H 0 CHUEl % SAEET W ITAN ®Eal £ 7

Options :

Idiographic Approach
SEAMANSS (THITH) S HIT

Nomothetic Approach
AMOTEEE (FFEFTITE) S hY]

Empirical Approach
5 s FIITTIA SEEH



Pragmatic Approach
% BRI EI RS Al

4.
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Question Label : Multiple Choice Question

In the context of Research Process, the following operational steps are taken in certain
order :

AAAUE UEA % Hed T, Meligd UiiEed =S99l U HieEe B o
o A E

(A) Conceptualising the research design
ATAGN HATIHTT H AT |

(B) Formulating a research problem
E0 k= IS RREEP = ] T

(C) Selecting a sample
Oicesl T =9 |

(D) Constructing an instrument for data collection
S HUE B 00 HAFHAN HES B i

Which of the following options represents the correct order ?
FTiEd O H -9 [@hed Hel 0 & Jid-idae &l © 7

Options :
1. v/ B, .-‘:"L, D, C

, % B.D.AC

; % BCAD

4.23 B,C,D..“ﬁi
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Question Label : Multiple Choice Question



Impact tactor of a journal is defined as :
fFHT FHe & 09 e (Impact factor) T 29 OFRE TGS TRAT AT E

Note: For this question, discrepancy 1s found in
question/answer. Full Marks is being awarded to all

candidates.
Options :

It is the monthly average number of citations that articles published in the last twelve
months in a given journal received
TE Hel ®O U FJE@ O Ued aeE OEEl O OS09E oiEl O OTEE

It is the yearly average number of citations that articles published in the last four
years in a given journal received
qE T ME Ul O oo =7 a9t O OEnie oeai F angs T

It 1s the vearly average number of citations that articles published in the last two
years in a given journal received
7= 5l 0 T S e © fred o a9 O OEieTd oidl B anus S

It is the vearly average number of citations that articles published in the last five
years in a given journal received
Tz &1 ME OEE O gl 9= gul O OEieE ohEl d andE HAEd

4
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Question Label : Multiple Choice Question

The three basic principles of experimental design are :

TR A1 F a9 Oadgd R =

Options :

Replication, randomization and Substitution
TS, TesOE=s™ Ug T@2iod9-

1. ®

Replication, randomization, and local control
. YERA, Y UIEHe U S Bl




Substitution, replication and local control

A9, TS UF T Frg el

3. %

Substitution, randomization and local control

L% AFEIgs™, EOE=9E Ud dHd Frgld
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Question Label : Multiple Choice Question

Differences in the means of more than two treatments are analysed by :
S H AIEE IU=EEl H O O Egs F fassiuer AT A

e

Options :

Simple t-test

L% 0T -9

Chi square test
o FZ AT T

F-test

_TTE

Paired sample t-test
Jfe S d-i

- et
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Question Label : Multiple Choice Question

Which of the following 1s nof a method of research ?

Options :



Survey
[EEE

Historical
M GIHIEEE S|

Observation

ST
S EIET

Philosophical

I E il
4, ®
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Question Label : Multiple Choice Question

Which of the following graphical presentation is two dimensional ?
= O F B AT U & SJET 7

Options :

Pie chart

Bar chart
F R EET

Histogram
AT =3

Box plot
g1 =T
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Question Label : Multiple Choice Question

Correlational Research can be classified from the perspectives of :

Az-AEY AqETE B T SEET F AT U7 @ g e A1 S
g7

Options :
Applications of the tindings of the research study.
| x ST ST F MGl B SATART F AT U7

Objectives of the research study.
5 o M FIES F I F ATER 0T

Mode of enquiry used in conducting the study.
3 % AFFE T HEEE O ITERT B OAE AR SE F TS OAEE T

Outcome of the research.
4 % ST T OROTH T STER 9T
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Question Label : Multiple Choice Question

A researcher might want to examine the reactions of the general population towards
people in wheelchairs. He/She can study their reactions by sitting in a wheelchair
himselt/herselt. Such method of collecting data is known as :

U SNEEal Ee=ET O AT @R & Oid A SAERl & O EAE #i
AE HeAT ARGl | g8 @A EeEAT O ao®e 39 Oiaieere @
HAFA BT AHAT 2| B UFA FAA F I GT B EA TU G OFET @

Er

Options :
Disguised Observation
=T AT TR
% U= A de kA

Participant Observation

2.¢ PIGE R L 7

Non-Participant Observation

3 s TR S

Self Recording Observation
y w T TEEIET e
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Question Label : Multiple Choice Question

Which of the fnl]nmnn 1s are citation/reference style s] 7
MmET O T R SR sAe @iy (&) =2 7

(A) American Physical Association
AGITFA e TATaIs

(B) Modern Linguistic Association
OEA [TIRgE=E THIETSTH

(C)y Oxtord Standard tor the Citation of Language Association
ATFAFE =USE BT T AECsH ATE ovae TEEuET

(D) Vancouver

GE R
Choose the correct answer from the Lnde'a given below :
M=faiad © 3 ®E-A1 981 §E =

Options :

ia), (by, (c)rand (d)

| % (@ (b)) AT (d)

(a), (b) and {c)
5 % (@) (b) AT (c)

(a) m_]d (d)
3 % @FAT)

(d) only
4 TAT (d)
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Question Label : Multiple Choice Question

One-way ANOVA is used to :
UF-TLHT UAET &l IUERET AT A6 2

Options :



Determine whether there is any statistically significant difference between the means

of single independent group before and after intervention .

TE Fuivg ®2ar & % #7 UF Tmag 9g9E O 5EET F usd A7 J.
| % & TT9T (mean) F T FIE HIFABT TETII HT =

Determine whether there are any statistically significant differences between the
medians of two or more mdependent groups

TE Fuied ®ar & T 0 & 91 AGf9® @as Jg9s § el & g

5 % HE AWART =909 F=7 =

Determine whether there are any statistically significant differences between the
means of two or more independemfunre]med groups

TE Faivd Fear & % &0 &1 a7 afas @mad s dq9aad 9981 & OTed
3 o (mean) % 4 FE AfESE gewTyl s & oA A€

Determine whether there are any statistically signiticant ditferences between the
squared means of WO or more mdependent group
Meiftva ®eam & % o &1 ar Aafaw mas AO=] F A 19T (squared

4 % mean) T A" ®IE AARE OETY ST = AT TRl
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Question Label : Multiple Choice Question

Which of the following principles of experimental design have been enumerated by
Protessor . A. Fisher 7

el e e S TR = 1 1 7 o M 2 -1 e S = s o £ s 1 = gl (N £ -3 £ SO L o
7o Uo fFITT g@rr fiAm o £ 7

(a) Principle of Revision
HeMEIA FI =

iby Principle of Replication
ORI Tl =

(c) Principle of Randomization
"] grﬁ TSRO 1 aEr

(d) Principle of Local Control
A 0 B R

Choose the correct answer from the codes given below :
Hre U T Hs O | HE 39 g

Options :



(a), (b)and (c)
(@), (b) AT (c)
1. %

(a), (b) and (d)

5w @0 AT (d)

by (c)and (d)

4 (byic) T (d)

(a), (c)and (d)

4 % (@), () AT ()
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Question Label : Multiple Choice Question
Read the statements A ’mrl B and choose the correct option :
FT A HT B U% AN HE @EeT =T

Staternent A : Exploratory research studies are also termed as formulative research studies.
FUT A ASTUGREDE 9 ST B ONE ol STora S HET ST R

Statement B : Exploratory research study i1s undertaken with the objective either to explore
an area where little 1s known or to investigate the possibilities of undertaking a particular
research study.

HO B ASUUNOE 9T AOREE H IE9d TRE U =uF O g A
TE® =17 § A5s 9 A=EE I9wed = A7 HE m ded & a1 oo
AT YA B FHAEATET HT TS T 24T 2

Options :
Both the statements are true.
| o SHET FHIT T E |

Both the statements are false.
) % AT FAT FFA E |

Statement A 15 true but B 1s false.
3 % BT A TAA E TET BT £

Statement B 1s true but A is false.
4 % TIT BHAA E kA A T = |
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Question Label : Multiple Choice Question

Which of the following are the online anti-plagiarism software 7
M=faiaa O # ®E-4 FJaEs ie-wiaed HiEady =

(a) Urkund
':51;.'1.:;-;_;
by Owerleat

x| R
(c) Turnitin
(d)y Viper

Choose the correct answer from the codes given below :
A= ®U T FE T OH FEN 391 g4
Options :

(a), (b) myj ch

| % ia), (b)) 3T (c)

(a), (byand (d)

5w (@.(b) =17 (d)

(a), (c)and (d)

3 @) 17 (d)

(a) and (c)

4 % @ M7 (c)
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Question Label : Multiple Choice Question

Whether a test is one-sided or two-sided depends on :



Options :
alternative hypothesis

3 =TT 1] TioFe
1.« dehlotdch T dnatdl

null and alternate both
I e Ell B A E e |

null hypothesis

- ST IERTTT

either by null or by alternate
4 % AT T S A ORI F
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Question Label : Multiple Choice Question

Which measure of dispersion do not depends on all observations ?

B T B |1 O1T JH] AgErEAl U7 MHT 98 S § 7

Options :
Root mean & square deviation

1wq_5—rrma:r-aq“1'raﬁ1’ﬂﬁ|=r

Mean deviation
5w WA ferga=

Quartile deviation
3 o TOUE HEEEA

Standard deviation
4w TTTE EEERI
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Question Label : Multiple Choice Question



It ris the simple correlation coetticient, the quantity 15 termed as ;
e r JIE ALHGE qOOF T, G O FH A OE T TR AR E

Options :

Coetticient of alienation
[ % TTHIHIOT H oI

Coetticient of variation
[E: o LA Ul 7

2. %

Coefhicient of determination
3 @ @ ZET NN G

Coetficient of non-determination
g s TE-TETOT HT IOE
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Question Label : Multiple Choice Question

A Scattergram is extremely effective :
UF FHog HAoad J9El = o

Options :
to show visually how two vanables are covering
S9EE Bm F oo 56 & =9 &9 o399 =

1. ¢

in organising the scattered footnotes of the research.
5 % SN F feRE Ot w1 i w3 O

in organising the scattered bibliography of the research.
5 s S W AT BT W FE H AT T

in organising the scattered results drawn after the rigorous literature review.
Fol? Hiscd TOET F Je R 0 fewE?d Oemgr 5 #hegd w7 0

4, =
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Question Label : Multiple Choice Question

The conclusions/findings of which type of research can not be generalized to other
situations 7
TFd O%T & Mg § Humd B eH Tl O AEErEd 87 hA = 1
a% £ 7

Options :

Casval Comparative Research

FIROEOF So-TmE ST
1. % -

Historical Research

TRl 91
2. %

Descriptive Research

3 o AU STreT

Experimental Research
U S
4, ®
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Which one is called non-probability sampling ?
M=arad O # ®E TE-UTasdl 99499 ®l Al = 7

Options :

CJuota sampling

1. ¢

Cluster sampling
T uiaEE

Systematic sampling
AT /2T U=

Stratified random sampling
= AR E Tia=TH
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Question Label : Multiple Choice Question

In an experimental design, the dependent variable is :
0 AR ® O § 997 =7 a1 2@ & 949 58390

Options :

The one that is not 1mmpu]ated and in which any changes are observed
‘ﬁ? ‘—[_"_CI_"T/F'?T"'IE_,-' 51 F FAET AT fHED 9 ger aftgde 95 Joie

The one that is tmmpu]’ﬂed in order to observe any eftects on the other
SECCE BRER SR - £ E -t AR A M I e s e A= b =
AT |

A measure of the extent to which personal values atfect research
TFH U AR Ood STy 1 O9Mad Hid = 39% Oi9h & =9 0
TAFT Thar ST =

An ambiguous concept whose meaning depends on how it 1s defined
U A0 AT OE1 A1 TFal = fAas] A9 39 07 [ Hmear 2

L% 5 39 9 ianus e A
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Question Label : Multiple Choice Question

When a group of people with defined characteristics are followed up to determine
incidence 1s known as :

qEAT W Ui ®mE F 0 oieius [GemarEl 9wl @en F O J9E &bl
M= O FAE A 2

Options :

Case series
T AR
#®



Cohort

2.4}7@_{

Case control

3.wﬁ>‘ﬂmzrrr

Experimental
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Question Label : Multiple Choice Question

In the process of conducting research, formulation of hypothesis is followed by :
AN HH H O O, SUshedr i 1 SAgEHT EB =

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Statement of objectives
| FEST W FHEA

Collection or data
T F Hhel

Analysis of data
TAT HT FeTEer

Selection of research tools
AT T FHT FAA

4.
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Question Label : Multiple Choice Question
"»’hnh of the fol]nmnn features are considered as critical in quaht’m\e research 7
FF:T fad o T‘[ F -9 [EeaaE NI B ST & I"I” e ;{”I O AT
E 7

Options :

Collecting data with the help of standardized research tools.
_ OERRT ST T80 & & A=AF o 2ATHS] B Fas0]

Design sampling with probability sample technigues.
5 s WG Q== THAH F TN FE ST 9T B e

Collecting data with bottom- up E]ﬂ]}]f‘lLd] evidence.
3 FEAMT AAEE HJEd & TAET HOATRST B FAE

Gathering data with top-down schematic evidence.
o, HH-UR AAEE A H AR H AEHST F AT
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Question Label : Multiple Choice Question

Among 25000 individual in a city, 105 were indentitied with Covid-19 positive. Calculate
the prevalence of Covid-19 per [000 pnpu]mml

OF STET O 25000 ==eA O, 105 FNde-19 AFHEES & 919 38 (60 0
1 °fd 1000 FEEE 9 EBITS-19 F AR Bl TOEAT T |

Options :

| % 52

) 4.2
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Question Label : Multiple Choice Question

The tollowing multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

=T H ATIT FE AW GO 0 g w IALE

Export Earnings

1 polished 3 gold

I 'Lil-]"ﬂ['l‘l'!d --—I:_. _Ei‘-"‘l"lli:.!.iL_lrl:".
700 - 660
505
’a B —y
g
% 500 | 486
409 4116
g f— -
B i 348
E‘ I -.o—
N el 270 .
3 ]
=
i 2
e o
1990 1991 1092 1993
Year ——»=

What was average eaming from gold jewellery over 1990 to 1994 7
1990 ¥ 1994 TF #U ATGUY H AT O P 47 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

503.4 Million
| 503.4 Tofer=



501.6 Million
, 5016 EIEPE

500 Million
3 500 foferr=

510 Million
n 510 Tofer==
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Question Label : Multiple Choice Question

The following multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

Frfafias 95 91T =1 Ofess S ) 99 & e § e STE Fr oS =
=TE H ATHT FE AT GO M0 U W oI9S

Export Earnings
Polished Diamond vs Gold Jewellery

] polished s wold
! didt]ﬂpd PR _EE‘I"JILIHL_'T:'.'
T = ﬁ_hf:l
505
E B 1
g
ﬁ 500 | 486
8 409
E 358
g oot 270
3 ]
i o
i =
et
100 + l“

990 1991 1992 1993 1994
Year —

In which vear the difference of export earning of two types of jewellery is maximum ?
TFe =9 O o AT9Uel o MFE O @ JeT SAfgEay 97 v

Options :



| o 1994

1993
1991

1992
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Question Label : Multiple Choice Question

Directions ; Study the tollowing table and answer the question given :

Production of different types of scooters in a company

@Sy : Frafaiad Ao & ST9EE HY AT e M UsT @ oFeT &

UF FOA1 O &9 96T & Fped B 3R

Figures in '000

Year Type of scooters
A B c D E
1992 | 180 | 60 84 | 100 | 76
1993 | 210 | 90 32 80 48
1994 | 135 | 30 44 935 83
1995 | 190 | 85 69 | 125 | 115
1996 | 260 | 95 120 | 80 | 120
1997 | 240 | 140 | 161 90 | 185

What was the approximate percentage of production of A-type scooters in 1995 to its
total production over the vears ?

1995 T A-TET & FHAl & IARA H FJONAd 099 29F o 3cd1eA
I R A v

Options :

20
1. %
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Question Label : Multiple Choice Question

"Viscerotonia' is which type of body type ?

R E EA T | 21 R 3 Elie 7 1= R 71 Rl 7 e = 7 el

Options :

Endomorph

| @ TEETH
Ectomorph

=, -
["s:l:;—’ ]:| :I:_.

Mesomorph

AT

3. %



Athletic

=,

_ UYd[c<h
4, %
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Which of the following are essential amino acids ?

a5 9 ®E-9 A"egs AHE oS B 7
I. Tryptophan II. Valine
ITII. Lysine IV. Leucine
V. Serine VI. Alanine
Options :

I, II, IIT & IV only

LI I & IV &9
1. ¢

I, III, IV & V only
5 % LIL VST V Hae

I, I, V & VI only
% 1, I, V 27T VI 3

3.
I, IV, V & VI only
4 x IL IV, V 3T VI Z3=m
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Which of the following are correct ?
Ffead | I - "el B 7

(I} Platelets are produced in the bone marrow.

=, S

Teeigdl AR He=1 H# 3Iedied =i = |

(I} Platelets are produced from cells called megakaryocytes.

-,

Teeledl FIMHRIARAE e AE HTHIAT T Fed=1 B - |

(III) Flatelets have nucleus and its diameter 1s 10-13 micrometers.

wieeed H ANH® Bl 5 ST SO =9 10-13 AhHeT BEl & |

(IV) Lifespan of platelets is about 8 to 10 days.

ACeled 1 SETHe @ 8-10 Al #1 =E B
Options :
Only I, II & III are correct
| % P LIS @t %
Only II and III are correct

e I =97 I 7151 =

Only II, Il & IV are correct
; x A IL AR IV 3@ 3

Only I, IT and IV are correct

=

4\‘4;- E R | I, IT _:":T_|_"_ IV T|=1-T =
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The most rapid method to resynthesize ATP during exercise is through :

=EE & SR Ul ®I gAEiad ®Hed W a=d o ads e o
Options :
Glycolysis

| % TSRS



Phosphocreatine breakdown

5 ¢ FIEREIET H g

Tricarboxylic acid cycle (Krebs' cycle)

3 % ARG ogs =% (=T =)

Glycogenolysis

4 % TATS R T AT T2

Question Number : 45 Question Id : 50939817467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
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Which of the following are correct ?
g | I #9857
(I} Biceps Long head originates from Infraglenoid Tubercle of

Scapula

e | = =N

AT FHI ART BS FHIAT F SORFCAES gaidd o Fhadl =

(II) Long Head of Triceps originates from Coracoid Process of

Scapula

= -1e =, =, =, = =, % =, =
,{; U Tl <7 T &5 Fi.-j’:" = =hIT RIS EIJFH H I Bl B

(ITI}) Long head of biceps enter the joint capsule of Glenohumeral

AU AT T TWAEAI B AgF e H "G Hal B

(IV) Short head of biceps muscle originates from Coracoid Process

of Scapula

qEA B AHGRN F BRI Y Y F DEHES A9d d I dT

/]

1
)

Options :

Only I and I are correct

| x T LA @A F



Only I, IT and III are correct

e

, % FA@ LI A= 1T 7151 3

Only III and IV are correct

3 @ TAA Il =77 IV T&l &

Only I, IT and IV are correct

4 % FF@ LI AT IV &35 B
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Question Label : Multiple Choice Question
Which of the following are correct ?

FrfeEa ®§ o HE-T1 g8l 2 7
(I} Displacement can be negative or zero.

EE e B A R o | =) o it 2 e A

(II}] Distance can be equal or greater than displacement.

i HEEmTE T FIET O A taw B T B

(ITI) Mass of an object 1s a vector quantity.

fRefl a5 1 =09 OF Afes T B

(IV) SI units of weight 1s Newton

EER Eﬁf S1 .:_FH:: "“'1_.; %

Options :
Only I and IT are correct

| % P 1SR w8 ¥

Only I, II and III are correct

=

, x A LI A% I w8 %



Only I, IIl and IV are correct

3 % ®ad IR IV @8 2

Only I, IT and IV are correct

4.\_},@?{1,11 #A IV =1 =
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Which of the following are correct ?
Ffaad | I - "8l 5 7

(I} The bouyant force balances the force of gravity

=, =

qT TA THAEHEYT Td B Agiad HLl B

(II}) Buoyant force is Inversely proportional to the density of fluid

=

(III} On average, the density of fat 1s 0.9g/ml and muscle 1s 1.1 g/m.

TAT F ARTAT, T99 0.9g/ml AR 7@t 1.1g/m F |
Options :
Only I and IIT are correct

e [ T Il o= &
1. ¢

Only I and II are correct

Faa 1 < I o951 &

Only IT and III are correct

Faer I 2T 11 75 2

Only I 1s correct
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Question Label : Multiple Choice Question

Which of the following i1s not a condition of mechanical advantage 1n
levers ?

— =y = =i

= # A B AT 7 gt e @ Rafg a8 37

Options :
Force arm is longer than resistance arm

. BRI ATH INEE A S geEr ° owEr =B
| % 3]

When Resistance 1s between Fulecrum and Applied Forces

5 % ST O wesd AT TEiES AW B 9= A

When Applied Forces is between Fulecrum and Resistance

Force arm divided by resistance is more than one

4 & AT ST T BT F EEEE wH [ ooAAE A
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Which of the following are correct ?
Frfaias # d H-a g8t 8 7
(I} Horizontal velocity of a projectile 1s always constant
Ush e SHT AfasT 99 A9 ReT sier B
|II) Vertical velocity of a projectile is not constant
(III) During projectile there is always a horizontal acceleration

™ =

T W S BHI U Sias oGeel =il B

(IV) Time of flight is maximum when an object is projected at 90°

-

5 Rl Fxg W 90° 9 uwaAfuw fRam Am B oA IS & THg

Options :
Only I, I and III are correct
| x FATLINAT M &8 %

Only I, II and IV are correct

2.\_#4,%—:1?{1,1] A IV T

Only II and III are correct
, A L AT I &3 3

3.
Only II and IV are correct.
L Faa I A IV 78T
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In gait cycle of running, which of the following i1s/are correct ?

=

= & 9 =@ |, FrefaiEad # 9 fe-ansd g8 8 o7

£y

(I) There are no periods of double support

Y T #wE e A

(II} In Jogging Stance phase 1s equal to swinging phase.

HIERET # = 9907 FEEET =999 % 99ET Bl B

(III) Toe off occurs before 50% of the gait cycle

=

21 3 TF = == % 50% T 98el =il B

Options :

Only I and II are correct

- e [T o=t &

Only II and III are correct

N b e

Only I and III are correct
Faa [ O @5 3
3. ¢

Only III 1s correct

Fae 11 7= 2
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For optimum performance in long jump which of the following are

correct ?

ST G B i e = el b T o LA s L e B e o1 e < 1) S S
(I} Take-off velocity should be higher

(II}] Height of CG at the time of take-off should be higher

2H-TF & TEa A= B TEE ATgEw BET =iey
(III) Angle of take-off should be 45°
Options :

Only I and IT are correct

L& g 1A O=r =

Only I and III are correct

Fad [ 317 I o151 &
2. 8

Only II and III are correct

y x FAd AT I w3

All I, IT and III are correct

4 % LI AT I @9 =1 &
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Question Label : Multiple Choice Question



Which of the following is/are eorrect for measuring the height of a
person ?

=,

(i Bn | 1 o B O O 7 s | 2 1 7 M 2 | 1 e O 7 s A 5 - B

(I} Head must be Frankfort Plane
7 H HHEe =E BET =SNET
(II) Head must be Frontal Plane

T hedl =9 H BMET =ET
(ITI} Orbitale and Tragion must be in horizontal line
HAEew 7 a9 UF &fas @ § =M1 =Jneg

(IV) Orbitale and Zygomatic notch must be in horizontal line
AMEed A7 mHEes 1= U Hios @ § OsFET SJnen

Options :
Only I and III are correct
| @ PIA 1SR a3 %

Only I and IV are correct

Fgda [ T IV T8 &
2. %

Only II and III are correct
, x TA MR I @F &

Only II and IV are correct

, & FA NAT IV @@ B
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The seat of emotion 1s to be found 1n the :
Options :
Fore brain

1. ®



Hind brain

. =,

) ® BS%

Cortex

3. %

Limbic system

g, o D 4
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Question Label : Multiple Choice Question

Which of the following are correct ?

Frfoiad & O -1 98 5 7

() The primary class of lipid hormones in humans are steroid

hormones

il B o e T B 7 B L e B et = T L s

(II}] Epinephrine and norepinephrine are Amino acid-derived

hormones

T

i i = Cal | R i o B T S L £2 R (o B B L B M

(III} Peptide hormones are long chain amino acids

JeET BEM @Al jEeT &% Ul uis B E
Options :
Only I and IT are correct

L& F9a [ AT I = 2

Only II and III are correct

Faa 11 =7 I 72 &
2. %

Only III is correct

, e Il @8 3



Only I and III are correct

4 % Faa 137 I T=r &
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Arrange the following co-relation from maximum to minimum :

At T=a99 HI ATTFad A IAa9 OF AgETd FL

a) 0.42 (b) -0.32
lc) —-0.42 id) 0.32
Options :

| % C. &, b, d

, % a,d,c, b

3 \/a,d.b,c

a,c,d, b
%
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Question Label : Multiple Choice Question



According to Freud, different types of anxiety are :

(a) State anxiety

=9 =HI =
(b) Moral anxiety
S ISER I

(c) Reality anxiety

qEAEHaT =l

(d) Neurotic anxiety

e =
Options :
a, b & c only
a, b AT ¢ T4

a, b & d only

b, ¢ & d only

3 o b.c#AT d FHIoT

a & c only
_:\'\' —
a #AT ¢ Fdac
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Question Label : Multiple Choice Question
The Circuit Training method was started by :
Afhe AT &9 Fas 9 gE & TR
Options :

Gosta Halmar

1. % MRSl FTHY



Winter Bottom

2.33'—;“ =i

Dr. Reindell and Greschler

3 % =T =2 37T T9Te

Morgan and Adamdson

4 FEE AT g
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Question Label : Multiple Choice Question
In Scott Motor Ability Test the Motor Ability is calculated as :

=, - =

T HIeT UETASl o= H H\ied UEieel 0 79T 59 961 i A= 5 -

Options :
0.7 (Basketball throw) + 2.0 (Dash) + 1.0 (Wall Pass) + 0.5
(Broad Jump)

| » 0.7 (ArFzete %) + 2.0 (B21) + 1.0 (I 9R) + 0.5 (3= W)

1.9 (Volleyball throw) + 2.5 (Dash} + 1.5 (Wall Pass) + 0.6
(Broad Jump)

1.9 (Jicf=tar =) + 2.5 (2=1) + 1.5 (i@ 9m=1) + 0.6 (siz =)

2. & / y
0.9 (Volleyball throw) + 2.9 (Dash) + 1.6 (Wall Pass) + 0.9
(Broad Jump)

, x 0:9 (A ) +2.9 (1) + 1.6 (A1 1) + 0.9 (AT )
1.7 (Basketball throw) + 2.4 (Dash) + 1.7 (Wall Pass) + 1.5
(Broad Jump)

4 % 1.7 (aheata %) + 2.4 (Sa1) + 1.7 (I 9/7) + 1.5 (F =i9)
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Question Label : Multiple Choice Question
The extent to which performance can be interpreted by a test 1s known

as its :

=,
— .

Options :

Construct validity

L& =HT AT

Concurrent validity

Predictive validity

4 s TATIATT T
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Question Label : Multiple Choice Question

Questions 1in which answers are done on 1 to 5 scale are known as :

=a

9 sl % 392 1 &1 5 & 9AE 97 6w 7o B, == == 9= A A

Options :
Structured questions

v -

“ =g Ha3T
1.



Open ended questions

AT U=ST "5

Dichotomous questions

Taeaslt o=
3, %

Polytomus questions

JieTeET 99T
4. &
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Question Label : Multiple Choice Question

The National Council for Teacher Education as a statutory body came

into existence in pursuance of :

W A= fo1e afigg o mifaias FEm % =9 7 afEsma | oo
Options :
NCTE Act, 1993 (No. 70) on the 25 August, 1995.

, 25 oTTEN, 1995 F TG ATgEE, 1993 (TEr 70) |

NCTE Act, 1993 (No. 73) on the 17® August, 1995.

- 17 =, 1995 =/t U=eilers sifaf=9, 1993 (FEr 73) |
NCTE Act, 1995 (No. 93) on the 17* September, 1995.
17 Tad=e, 1995 =1 v=eidE g9, 1995 (F=m 93) |

NCTE Act, 1995 (No. 70) on the 25%* September, 1995.

25 fraa<, 1995 1 ugaers Ag=TE, 1995 (T=m 70) |
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Question Label : Multiple Choice Question

Role learning is the part of :
T @ F/ BET E O
Options :

Learning

| w A

Socialization

9. ' THATATRTT

Rebuke Condition

-

3 % 0E TS

Reduction Change

4 % el S

Question Number : 63 Question Id : 50939817485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Autogenic training i1s a technique :
HIEEH A9 OF a60E 5
Options :

To bring about relaxation in body

| R R TR 1k B TR s L

To increase anxiety level

o w O ET gTH % fe



To counter avoidance syndrome

3 % 9B oM # gEEen #3 & oo

Motivation Technique

4. b _ﬁl:ﬁ' L ":f'.-;r =
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Question Label : Multiple Choice Question

What 1s the fat Burning Zone of training ?

OfSTeOT % T4 AT HJ T BT
Options :

| % 50-30% of max. HR

” 55-65% of max. HR

- 60-65% of max. HR

4 % 635-70% of max. HR
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Question Label : Multiple Choice Question
Cobb's angle i1s measured for which of the following deformaity ?

-

Frfarad # A B G ® ™ ST H OFET " AR 5
Options :
Kyphosis

| o TR



Lateral Flexion

, % =T

Lordosis

Question Number : 66 Question Id : 50939817488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is March Fracture ?

HI= T AT B G
Options :

Fracture of 2™ and 3™ metatarsal

L 27 AT 39 HSEES w1 HaET

Fracture of thumb

IS T e

Fracture of cuboids

FOATE  (9919) AT

Fracture of tibia

-

y % Tef=ET =5 e
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Question Label : Multiple Choice Question

Which of the following are correct about digestive juices and enzymes ?

Frfeaa & O FiE-T 9= T AR USEs % o9 5 98t B 7
(I} Saliva-Amylase

il LU HIS o

(IT) Gastric-lipase

i %

HIEs-C G |

(IlI) Pancreatic-Rennin

ST -1
(IV) Intestinal-Maltose

Options :
Only I, II & III are correct

. Faa [ I T I 74 2

Only II, III & IV are correct

. Fae I, I A IV o5 &

Only I, III & IV are correct

QEFF-{F[I.II] A IV o= B

3.
Only I, I & IV are correct
Faa [ 1124 IV 78 2
4.
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Question Label : Multiple Choice Question



Who 1s the world's first man to run marathon under 2 hours ?

2 92 ¥ FHA AAT H HOUT SIS TI HIA A GAT B 9eel SARHN i
57
Options :

Geoffrey Mutai

1$3ETR1‘T§FIE’

Eluid Kipchoge

i~ [ . Y
Ulrds =RH9H
2.9

Paula Radcliff

-
.

Hi3edl 45

3 % g

Dennis Kimetto

[ - Y
SHH T=hHC

4, %
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Question Label : Multiple Choice Question
An average adult need how much protein per day ?

— [t

7 o7 fpas 9= @i sAEsaswar =l 5

-

U T956 i [

Options :

2.0 grams per kg. of body weight

o & T T 2.0 OF 9T TR

1.6 grams per kg. of body weight

o % T H1 1.6 O 9ia R



1.2 grams per kg. of body weight

3 % ST W == T 1.2 IE 9fe R

0.8 grams per kg. of body weight

. o3 F T FT 0.8 THE 9ig =
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Question Label : Multiple Choice Question

COVID vaccine prepared by Pfizer 1s :

HIE=TL A g COVID TF=Ri= =
Options :
mRNA-based

v UH AT U9 U- AT

mDNA-based

o =1 U U— ST
2.

Weak virus based

y w TEET AEE AT

Protein based

e AT
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Question Label : Multiple Choice Question



Sigmund Freud developed a new school of thought in psyvchology

known as :

s s = J949igs= # 94 =F=Er @1 & & o
Options :

Behaviorism

Associationism

SN

Psycho-analysis

3 \‘/ ]:'T—rnq_\r; ":h‘-\- L

Mechanism

g% 7
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Question Label : Multiple Choice Question
Multi-factor theory of intelligence is related to :

IEHATT N Fg-FEH AT 99T 5

Options :
Thorndike

Hull



Spearman

y o RS A
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Question Label : Multiple Choice Question

Hormones secreted by Posterior Pituitary :

= (=t

ORI gY Tededl 9 Anad =M

(I} ADH (antidiuretic hormone}

u Z ug (dEsEgiics =M
(II) Oxytocin
(IlI) Thyroid Stimulating Hormone (TSH)

Options :
Only [ and II
& Fger I =17 11

1.
Only I and III
5 x P I & I

Only II and III

3w P I 27 1



Only III

4 % P I
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Question Label : Multiple Choice Question

Plyometrics 18 also called :

SATAHE T B AT AT B

Options :

Reflex phenomena

o AT=EDE T

I.

Reactive jumps
r‘. '_.'- EllaEr =1

2, P RS
Agility training

3 % Al HI=T=9T
Star Jumps
=L =R

4, % )
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Question Label : Multiple Choice Question
Best method to develop flexibility 1s :

AT FHAT w9 =S =i B
Options :

Ballistic method
| % Hieare=s &t



Slow method
2 F=4 ﬁ—-lr %ﬁq

Slow stretching and holding method

\ o T B G A

Relaxation method

4% Frame fafm
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Question Label : Multiple Choice Question

Which of the following are correct about computer ?
O & A § Freftan & 9 - @@ s 7

(I} A binary digit is the Largest unit of information in a computer.

=
=
L

LB

O A4 AH FHeL H AFRET FH A TSl SHIe
(I} A kilobyte (kb) 1s 1,024 byte.
uF FRarEe (kb) 1,024 fEea &

(III} The binary system works the same way as decimal.

=41 TEH ToEeg i 4= #i wE il B

(IV) A computer represents all information in bits.

UF FHcT Eod F§ T TEel H® Aead wHeal B

Options :
Only I, II & III are correct

. Faor I, I 237 11 7151 5
1.



Only II, III & IV are correct

Faa I 11 A IV T8 &
2.¢

Only III & IV are correct

3%%?HIIIE§"|TIVTI?§T%

Only I, III & IV are correct

Faa [ I =< IV %0 &
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Question Label : Multiple Choice Question
Which of the following are correct about computer ?

FOeT & AW H FAEd # OH FE-IT T8 27
(I) In a computer, information travels over wires.
(II} An individual byte has a value of either 0 or 1.

U e T A= O = 1 BT B

(III) An "on" wire represents 0, and an "off" wire represents 1.

CHY TG 0 T g9 HBEaT =, AT ST 3T 1 T "igeiee

(IV) An "on" wire represents 1, and an "off" wire represents 0.

CSY AT 1 T AEEE" HmIar B, TSR 9T 0 1 "9iaiEiae
hidl % |

Options :
Only I, II & IV are correct

Faer [, 11 30T IV o951 &
1.



Only II, IIT & IV are correct

) Faer 1L, 11 & IV o5 &
2.

Only I, IIT & IV are correct

Q#‘ﬁﬂl.m-ﬁv_wuﬁ%

3.
Only I, II & III are correct
Faa I, 1A I @51 5

4. %
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Question Label : Multiple Choice Question

Which of the following is not a type of intelligence describe by Thorn
dike ?

qMSlE® A 0T O " A HE-Al OF TR B ga T8l 57

Options :
Concrete Intelligence

=

-, e
ol Sl

1. ®

Abstract Intelligence

9 AT g

Social Intelligence

"y

s TTHEIEE Zofer=ia

3

Emotional Intelligence

T

IR A G e

4.9
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Question Label : Multiple Choice Question

Which of the following are correct about Normal Probability Curve ?

S -

AT THE=0al 956 % =1¢ H eleiigd 8§ 3 -4 T80 5 -

(I} Area between M*1lg is 66.26%
Mz+1lc I &5%a 66.26% =
(I) Mean = Median = Mode
Heq = HNEgRl = Jhalsh
(III) Value of Kurtosis 1s 0.263
FElee ® A 0.263
(IV) 95% area comes under £2.48¢
95% &= *2.48¢ * AT AT
Options :

Only I, II & III are correct

S

Hgar [ II =77 I o=t &

1.
Only II, III & IV are correct
, s T IL L ST IV adt 3
Only II & III are correct
3 ¢ Poa I &A= I &= 2

Only II & IV are correct

4 x PG LA IV w31 3
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Question Label : Multiple Choice Question

Which of the following are correct ?
Fr=faias & & FE-—a |98 5 7

(I} Unpaired t test - Parametric test

TGS F T - Ui oE

(II) Paired t test - Non-Parametric test

goe & 2w - T-UEiigs 9

(III) Spearman Correlation - Non-Parametric test

AT TEEd - TE-EEiEE TEE

(IV) Pearson Correlation - Parametric test

=T dsa99 - EHEigs JieTT
Options :
Only I, Il & IV are correct
| ¥ LITEAT IV @8 3
Only I, IT & IV are correct
) % A LI AT IV a8 3

Only I, II & III are correct
; w FFd LI &0 I #7813

Only II, III & IV are correct

4 % FFa I 11 &% IV @@ 2
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following are the items of American Alliance for Health,
Physical Education, Recreation and Dance (AAHPERD) Basketball
Skalls Tests (1984) ?

FAAHT AAET BT 5o, [Hieha us®e, FEpus o= =i (AAHPERD)
ARedle ke ofe (1984) # =feiaa § o H=-31 99897 5 7

(I} Speed spot shooting

(II) Offensive Skill Test
AR ST T

(III) Defensive Skill Test
TEATHE I T

(IV) The Passing Test
QI 90T

(V) Control Dribble Test

Options :
Only I, II, III & IV are correct

e

| % F=e LIL I A IV 81 &

Only I, II, 1T & V are correct
> % Wae L IL IOl V O3t ¥

Only I, III, IV & V are correct
3J?_EEIF[I,II],E“_ ATV TEE

Only II, III, IV & V are correct
g4 % a9 ILIL IV &0 V @@t 8

Question Number : 82 Question Id : 50939817504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a Cardio-Vascular Endurance test ?
Frfaad | 3 HE Fwicd-I =t UgaRd o& A8l & 7
Options :
Tuttle Pulse Ratio
| % C<CO U HAGUG

Harvard Step Test
) % BEAS 9 Tl

Cooper 12 min. run test
3 % £ 12 ™. SIS 9487

Nelson test

ST T
4. W
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Question Label : Multiple Choice Question

Which of the following are correct ?
ereferfiaey & @ - @ B 7
(I) Vitamin C is Water Soluble
A1 bl e 1] S R b B
(I} Vitamin D is Fat Soluble
(ITI) Minerals are organic compounds
e wEEE AR
(IV) Vitamin C helps the body to absorb iron
e =1 9T ® AT W0 Agwiag w9 H Ass HIal 5
Options :

Only I, II & III are correct

lggﬁﬁﬂIJLﬁFHImﬁ%



Only II, IIT & IV are correct

Faer I, I = IV T3 B

2.
Only I, III & IV are correct
s x P9 LI A7 IV @dt 3

Only I, IT & IV are correct

e
—a
=

g @ A LA IV F=t

Question Number : 84 Question Id : 50939817506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question
Which of the following is not correct about the side effects of Anabolic

androgenic steroid ?

= —

=TT | & FE-01 TR g OGS gEEEl 5 A9 J Tl
&g 5 7
Options :

A

Testicular atrophy

- :P_\
|y TAT A

Testicular hypertrophy

Lever Ulcers
3. %

Male baldness

4 % TOF T
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Question Label : Multiple Choice Question

In homologous blood doping :

5 o .
SHEIICIITE T=9d SIHT H

Options :

One's own blood 1s transfused

| % T 2 T g R S 3

Another person's blood 1s transfused

, @ T B s 7 B i M e e e B v B e

Synthetic Oxygen carrier are transfused

—

Midfe® SRI=T @S & gi9gd Har AR 5

3. %

Proteins or chemicals having the ability to carry oxygen are

transfused

Sl L e s 102 ot s B 1 2 e B | B O 2 1 | B e | R 3 L 2

4 % TEEAT ST %
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Question Label : Multiple Choice Question

'Karma yoga' is based on the teachings of :
‘FH AT, Rl 97 oanig ®

Options :
Upanishads



Patanjali Yoga Sutras

Hatha Pradipika

=
trle) :lx.r_ I:-I’:l;

Bhagavad Gita

g A TS
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Ajna Chakra located at :

Options :
Crown of Head

| x T ® = A
Chest

, x B H
Eyvebrow Centre

Lo B A

Throat

4. % TIFWET
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Variability of the sampling distribution is known as :

T FEeoT #H 9Raaasiaar ® e w9 OH# AT AT 2ol

Options :
Standard Error
v e e

Standard Dewviation

) % FTE

Variance

—

3. % ==
Quartile Deviation

L% Tgd= fT=a
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Which of the following are correct ?
Freferfae & @ Fe-ar @ ¥ ¢

(I) Saturated fats are solid at room temperature

T T4 HAL F ATHET TL S BT S

(II}] Unsaturated fats are mostly found in Vegetables

_ . - 5 g =,
HEAGT TAT =G L G=741 § 91E1 |1 8

(ITII} In unsaturated fat, fatty acid has no double bond in the carbon

chain.

TAOFE T H, Bel OE & FET SFEel H O FIE s "9 FE B

ap

(IV) Omega-6 fatty acid is an example of Unsaturated fatty acid

= =

= = = = o . ) o =
Omega-6 ol Os FHAHFIEE Bl TS & TF 3SELT B

Options :
Only I, II & III are correct

% Faw LI, &7 I =151 2

Only I, IT & IV are correct

. Fga LI =237 IV TO51 5

Only II, Il & IV are correct

Faer I, 11 =Fe IV o5 &

3. %
Only I, IIT & IV are correct
Faa L 11 e IV a8t &
4.%
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Question Label : Multiple Choice Question
Flat Feet 1s also known as :

=,

-

FAE BIE, F T4 H 9 HAE1 AT 57

Options :

Hallux rigidus

e

Sl TL{I=1s4

Pes equine

T TR

Pes caves

F—R-l :_\h =

Pes planus

-

9T WA
4. &
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Bicep curl with barbell 1s example of :

qEEE & WY =549 el Sersie B
Options :

Isotonic exercise

1= r_'\f. =5 =3 e
1 HIZH<lT=h HIHTH

Isometric exercise

) % ATEIEISE =T



Isokinetic exercise

3 % ATSITRIEATEE =TT

PNF exercise

4% JUUE =TT
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Question Label : Multiple Choice Question
Which of the following are WBC ?

F=fefaa & 31 9 S=garl 5 7
(I) Neutrophils
(II) Monocytes
ARG CH
(Il) Biotin

(IV) Eosinophils

— e
=

=] L

(V) Basophils

L

Options :
Only I, II, III & V are correct

| x T LIL IS V wd 3

Only I, I, IV & V are correct

g LI, IV 3T V 957 &



Only II, IIT & IV are correct

; & @@ LI AR IV &3 %

Only I, II, IV & V are correct

s Faa LI, IV 0T V 991 &
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According to new rules the sole thickness for marathon and other

running shoes must not be more than :

AU Al & AT AT AT AR SISl & Sdl & O # "iels e

-

Options :
20 mm

ngﬂm

30 mm

= [

, x 30

40 mm

=, =

3.\_/—10 A

50 mm

50 T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following are health related fitness component ?

Fr=faiaa § O FE-a7 =g 99t heaey 9% 2 C

(I} Body composition
(IT}  Flexability

(ITI) Power
(IV) Agility

(V) Muscle endurance

HETITa el
Options :
Only I, I & V are correct

e

| FF LI, A V a8 3

Only I, II, IIT & IV are correct
, % Faa LIL I &% IV @@ 3

Only I, III, IV & V are correct
3 % FFA LIL IV ARV ad ¥

Only I, III & V are correct

e

4 % FAa IO AT V T3 =
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Which of the following are correct ?
Ffafag & 3 HE-T T8 5 7

(I) In type I error Null hypothesis is rejected when it is true
erzT I gfc & waz=a (Null) 9fFwen =t @fiis #7 Tar = & =19

(II} Type I error is more serious than type I error.
(IIT} Type I error i1s also known as alpha error.
TR I g W wvw Fic B =9 F F =T o= B

(IV) Type II error 1s known as beta error.

ersd I Jie o =5ier Jfe & &9 & AT SAw 5
Options :
Only III & IV are correct

| w FE@ 1A= IV a8 B

Only I, III & IV are correct
) o FFA LIOLAT IV #E E

Only II, III & IV are correct
3 % Faa IL I A7 IV T3 2

Only I & II are correct

4.33%3?1354“1711?1?;1“%
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Question Label : Multiple Choice Question



Which of the following are correct ?
Frfaiaa § o @F-ar g8l 5 7

(I} Cryotherapy reduces muscle spasm

FTOEGT TR 6 U9 FH9 FI0 =

(II}) Heat Therapy increase local metabolism

=, =

(ITII} Frequency of infrared light, with wavelengths from 200 to 500

nanometers, 12 best used for healing inflammatory conditions.

T # R H IHrs d@ge = 99T 200 I 500 ST

B, S99 & o0 oT==r7 HE1 A 3

(IV) Diathermy uses low-frequency electric current to produce heat

deep inside a targeted tissue.

SHEYHEl FHH AEN T Fega 9T ® OS9G Fia UF g Sad
F AT TEA A deT HIAT B |

Options :
Only I, II & IV are correct

| & 90 LIL AX IV @8 3

Only I, II & III are correct

5 % Fae [ I 377 I T2 =

Only I & II are correct

3 g I AT I 9O=1 &

Only II, II & IV are correct

4 % FAa LI AR IV 78 B
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In the injury of shoulder rotator cuff, tendons of which of the following

muscles get injured ?

FT FH ey FF FH I H, = H O B ArmiEeEt F F=T 99 2 A9

ap

(I) Subscapularis

(II}) Biceps Tendon

(ITI) Supraspinatus

o

THMTEI T

s )

(IV) Infraspinatus

. 3h

g o -

(V) Teres Minor

(VI) Teres Major
Options :

Only I, II, IIT & VI are correct
| % @Fe L IL I &% VI @8 B

Only I, II, III, IV & V are correct
) @ Faa LILIL IV & V o131

Only I, III, IV, V & VI are correct
s % ®a@ LI IV, Vi VI @@ &

Only I, III, V & VI are correct
4 % Faa LI VA VI 92 B
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During Resting Potential, cell membrane 1s :

I GIREEE % S, O 5= BET B

(I) Almost permeable to Sodium
(II} Almost permeable to Potassium

i~

JefaEE & e ST 9

(III} Almost impermeable to Sodium
(IV) Almost impermeable to Potassium

Options :

Only I and IV are correct

123%?@13:%[15?1?%%‘

Only II and III are correct

5 o Fa0 AT I 725 ¥

Only I and IT are correct

3 % @A I i 11 @18 B

Only III and IV are correct

, x A O AT IV @@ 3
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Question Label : Multiple Choice Question



Which of the following are correct ?
Freffas & 9 fe—ar g8t ¥ 7

(I} One tailed test 1z used for testing null hypothesis.

UH-98 TUAGTT FH ITART AT Ihed T & TUAT & 0 Har S

g

(I) One tailed and two tailed test measure errors.

Sha

UFH-98 AR S-U8 THE Jfedr H ANE B 5 |

(ITI) Chi square test 1s a parametric test.

FT T GLIET UF UIEIEH T B

(IV) Two tailed test is used for testing directional hypothesis.

BaMTHF IFHeTT & TAG9 F o0 S-98 90897 & 399rT =Har

Options :
Only I, II & III are correct

| ® ®A@ LI, & 11 @5t 8

Only I, Il & IV are correct

o, w Faa LIIAR IV @@ 3

Only I & IV are correct

3 x P 1S IV @ E

Only II & III are correct

4 9 Il =117 III 51=1 2
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Question Label : Multiple Choice Question



Curriculum development 1s a cyclic process, which of the following 1s
not a step of this cycle ?

ToT=FA [FH TF I 9T 5, Ferad # o HE-T1, 9% B TE
=T A8 B 7
Options :
Objectives
Si--ger |
1. %

Evaluation

Feedback
3. %

Controlling

s
4. ¢



